10:02 | Midpoint
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Examples

1 Read the midpoint of AB.
x-value of midpoint:

nT L2y =43
y-value of midpoint:
15+ =3
Midpoint is (4%, 3)

s =

m

2 Find the midpoint of the interval joining:
a (1,6)t0(11,4)

Midpoint = (“ 11,6—JL4)
7 2
-(2.19)
T\272
= (6, 3)

" T
( \55/{ Formula: (1———2,“}L—ﬁ
N 2 2

Xp= 2 (L +3)=2

b yw A3
.}’l)] 2 2
Midpoint is (2, =)

1 Read the midpoint of the interval AB from the graph.

a ¥ b ¥ C ¥ d v
1 B(2,9) A-1,3) A0.8)
/8(6. 5) \
B (4, 2)
AN A(ja » . § ) B(4.2)
X l X h l hy - X
e y1 g B39 h ¥ B (10, 8)
A4, 00
X
80, ~2) A=5,2) A D
- l X o X

2 Find the midpoint of the interval that joins:

a (3,4) 10 (10,8) b (1,6) to (3, 8) c (0,71 10(6,3) d (5,5)t0 (11, 1)

e (8,0)10(0,4) f (4,000,100 g 6,71w(5,3) h (2,7 t0(12,3)

i (1,0) t0(6,5) j 2,4 to(4,2) k (8,3) 0 (5, 11) [ (0,5)to (10, 1}
3 Find the midpoint of the interval that joins:

a (4,6)t0(=3,-5) b (-1,6)10(3,-8) ¢ (4, -1) to (8,-5) d 3,051

e (7,-3to(-1,-5) f (0,-6)to0 (2,00 g (=2, -6) to (—4,-10) h (3,210 (3,-2)

i (3,2 1({7,8) i (6,-2)to(—4,8) k (1,0)to (=2, -5) 1 (7,-4) 1o (=3, ~10)
Answers can be found in the Interactive Student CD. © Pearson Education Australia 2004.
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